41. CHALLENGE You make necklaces and keychains to sell at a craft fair. The
table shows the time that it takes to make each necklace and keychain,
the cost of materials for each necklace and keychain, and the time and
money that you can devote to making necklaces and keychains.

Necklace Keychain Available

Time to make (hours) 0.5 0.25 20
Cost to make (dollars) 2 3 120

a. Write and graph a system of inequalities for the number x of
necklaces and the number y of keychains that you can make under
the given constraints.

b. Find the vertices (corner points) of the graph.

c. You sell each necklace for $10 and each keychain for $8. The revenue
R is given by the equation R = 10x + 8y. Find the revenue for each
ordered pair in part (b). Which vertex results in the maximum revenue?
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Graph the linear system. Then use the graph to tell whether the linear
system has one solution, no solution, or infinitely many solutions. (p. 459)

l.x—y=1 2. 6x + 2y =16 3. 3x—-3y=-2
X—y=6 2x—y=2 —6x + 6y =4

Graph the system of linear inequalities. (p. 466)

4. x> -3 5. y<2 6. 4x=y
x<7 y<6x+2 —xX+4y<4
7. x+y<2 8. y23x—4 9. x>-5
2x+y>-3 y<Xx x<0
y=0 y=-5x—15 y<2x+7
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